Total No. of Questions : 4] SEAT No. :

P-4341 [Total No. of Pages : 2
[6032]-SODL-1001
F.Y. B.Com.
111: COMPULSORY ENGLISH
(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate marks.

Q1) Attempt any ten out of twelve from the following : [10]
a What doestheword ‘benami’ mean in tax related usage?

b) What do you think the ‘road’ refersto in the poem ‘Up-Hill’?

c) Inwhichcity did Indra Nooyi grow up asachild?

d) What isthe theme of the short story ‘ The Beggar’ ?

€e) Whose photographs does Sudha Murthy have on her office wall?

f) How does the author expect us to react when we get angry or
disappointed?

g) Whoisthe main protagonist of wilde's short story ‘ The Nightingale and
the Rose' ?

h) Whoisthecriminal in‘After Twenty Years ?

1)  What obstacles stay the wind in the poem ‘A Prayer for My Daughter’ ?
)  Who won Nobel Peace Prize in Economicsin 20067

K) What istherea name of Saki?

)  Who isthe Captain in the poem ‘O Captain! My Captain!’?

PT.O.



Q2) Attempt any five out of seven from the following : [25]

Q3)

Q4)

a) Discusstheidea of Micro credit as evident in ‘Muhammad Yunus: An
Economics for Peace'.

b) Explainthe componentsof an emall |etter.

c) Explain the central theme of the short story ‘ The Nightingale and the
Rose’.

d) Inyour opinion, who deserves credit for Lushov turning hislife around?
Explain.

€) What does one gain from being calm?

f) Explaintheterm ‘Black Money’ with proper examples.

g) Prepareadialogueon thegiven situation.

Nitin is on hisway to hisviolin class. He meets Dr. Prashant, his
fathers's boss, outside the music school. The two persons greet each
other and exchange afew words before taking leave.

Attempt any five out of the seven from the following : [25]

a) Attempt the character sketch of Silky Bob.

b) What did SudhaMurthy write in her letter to JRD Tata?

c) Discuss how the company’s family support system helped Nooyi to
mai ntain abalance between her personal and professional responsibilities.

d) Explainthe central theme of the poem ‘O Captain! My Captain’.

€) Writeanote on non-verbal communication.

f) How blog writing isan effective way of communication?

g) Why didthe plan of Suzane Eleanor fail?

Attempt any one out of two from the following : [10]

a) Develop a group discussion on the use of credit and debit cards by
anticipating five arguments and probabl e response from the participants.

b) Explain the importance of reports and illustrate essentials of a good

business report.

* ¥ *
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Total No. of Questions : 4] SEAT No. :

P-4455 [Total No. of Pages : 4
[6032]-SODL -1002

F.Y. B.Com.
113 : BUSINESS ECONOMICS
(2019 Pattern) (CBCYS)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right side indicate full marks.

Q1) @ Fillintheblanks(any five) : [5]
)  In 1956 Adam Smith's book was published.
a Wealth of Nation b) Macro Economics
c) DasCapitd d) PublicFinance
i) Indifferance curve analysis was formulated by in the
year 1934.
a Devid Recardo b) ThomasMalthus
c) AllenandHicks d) Adam Smith
i)  The law of variable proportions was introduced by Sir Edward
West in the century.
a 17 b) 18
c 19 d 20
Iv) Geograficaly Is not a market type.
a Nationa Market b) Loca Market
c) BullionMarket d) International Market
V) Intheimperfect competition al goods are
a) Different b) Homoginious
c) Incomplete d) None of these
vi) The concept of Transfer earning is introduced by
a David Recardo b) ThomasMalthus
c) Adam Smith d) AlfredMarshal

PT.O.



b) Matchthefollowing: [5]

Unit - | Unit - |1
)  Relationship between demand a 'U' Shaped
and Supply

i)  Margina Cost b) Homogeneous goods
i)  Long Run Cost Curve c) Negative
Iv) Perfect Competition d) Prof-Schumpeter
V) Innovation Theory of Profit e) Forthelast unit
02) Attemptany five: [25]
a Explainthereationship betweentota revenue, averagerevenue, marginal
revenue.
b) ExplaintheLaw of equi marginal utility.
c) Explainthe concept of price elasticity of demand.
d) Explaintheinternal Economics.
e) State the characteristics of monopolistic competition.
f)  Explain the backward sloping supply curve of Cabour.
g) Explainequilibriumin perfect competition.
03) Attemptany five: [25]
ad State the economic goas of afirm.
b) Explaintheexterna economies.
c) Statetheloanable theory of fund.
d) Statethe characteristics of Duopoly.
e) Definewagesand explain the meaning of wages.
f)  Explainthefeaturesand meaning of oligopoly.
g) Statethelaw of demand.
Q4) Attempt any one: [10]
ad Define Business Economics? Explain the scope and importance of
business Economics.
b) Discuss the long run cost curveis shaped English 'U'.

VVVV
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Total No. of Questions: 4] SEAT No. :

P-4342

Time: 3Hoursg|

[Total No. of Pages: 3
[6032]-SODL -1003
F.Y. B.Com.
112 : FINANCIAL ACCOUNTING
(2019 Pattern)

[Max. Marks: 70

I nstructions to the candidates:
All questions are compulsory.
Figures to the right indicate full marks.

1)
2)

Ql) 8

Fill intheblanks. (Any 5) [9]

),

Vi)

Vi)

The dual aspect concept forms the basis of the
accounting method.

(doubleentry / singleentry / formation / parallel)

Surplus arising at last stage is distributed to all partners in
their

(capital sharing ratio/ businessratio/ liability ratio / profit sharing
ratio)

Income and Expenditure Account reveals

(Cash / Profit / receipt / Surplus or Deficiency)
Therea owner of assetiscalledas
(Lessee/ Lessor / User / Receiver )

Goodwill is an assets of the business.
(Intangible/ Tangible/ Current/Non Current)

In Case of charitable trust, Excess of Income over Expenditureis
called

(Profit / Surplus/ Deficits/ Loss)

Irrecoverable shortworkings are transferred to account.
(Profit and Loss / Trading / Income Expenditure / Receipts and

Payments)

PT.O.



b)

Q2) Attempt thefollowing questions (Any 5)

a)
b)

c)
d)

€)

f)

0)

Match the Pairs. [5]

)  Computerised Accounting a User of Asset

i) Lessee b) Fix payment to Landlord

i) Minimum Rent c) Accounting software

Iv) ProfitMotive d) Total Profit/Number of
Years

v) AverageProfit €) Business

[25]
What are the methods of piecemeal distribution of cash?

Explain the concept of Going Concern.

What is Statement of Affairs?

Explain the various types of accounting vouchers.

The profit earned by firminlast 5 yearsis given below:

Year 2017 | 2018 | 2019 | 2020 | 2021

Profit Rs. | 15,000 | 20,000 | 25,000 | 35,000 | 10,000

Calculate goodwill of firm based on 3 years of purchase by using average
profit method.

Prepare Royalty working table from thefollowing information.

B Ltd. leased a piece of Land from A Ltd. for fifteen years from 1*
January, 2022 on thefollowing terms:

) B Ltd. shall pay a Minimum Rent of Rs. 60,000 for the first year
with an annual increase of Rs. 2,000 per year in every subsequent
yedr.

i) Royalty to be paid a Rs. 5 per ton of coal raised.

i) Shortworkings areto berecouped inthefirst three years of Royalty
Agreement.

Iv) TheActual output for the first four years was as follows:
2018 2019 2020 2021
8,000 | 10,000 | 14,000 | 16,000

What are the advantages of Goods and service tax?

Years
Output (Tons)

[6032]-SODL-1003 2



Q3) Attempt the following questions (any 5) [25]

ad ExplainRoyalty
b) What are the salient features of GST?
c) State the difference between receipt and payment A/c and Income and
ExpenditureA/c?
d) What are the types of |ease?
e) JLtd hasearned profits during the last five yearswhich are as under :
Years 2016 2017 2018 2019 2020
Profits (Rs.) (40,000 | 41,000 | 47,000 | 46,000 46,000
The capital Employeed in the Business Rs.4,00,000 on which the
reasonable rate of return of 10% is expected. Calculate the Vaue of
Goodwill as per Capitalisation of Super Profit Method.
f) A keeps his books by single entry system. His position on 1% January,
2022 was as follows.
Particulars of Assetsand Liabilitieswere asfollows:
Assetsand Liabilities 01.04.2022
Investment 30,000
Stock 27,400
Debtors 42,000
BillsReceivables 28,000
Creditors 62,000
BillsPayable 14,000
Plant and Machinery 90,000
Furniture 7,000
Cash 24,600
g) What are the advantage of Accounting software?
Q4) Attempt thefollowing questions (any 1) [10]
d What isthe emerging trendsin Accounting?
b) What is Computerised Accounting? Explain the different types of

accounting software?

Q000
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Total No. of Questions : 4] SEAT No. :

P4343 (6032]-SODL-1004 [Total No. of Pages : 4
F.Y.B.Com.
114A: BUSINESS MATHEMATICS & STATISTICS
(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right side indicate full marks.
3) Use of logarithmic table and calculator is allowed.

4) Symbols have their usual meaning.
Q1) Attempt any ten of the following. [10x1=10]
a) Whatis simple interest?
b)  Write the formula for EMI by reducing balance method.
c) Explain the types of Preference shares?
d) What is Bonus Share?
e) Whatis Random Sampling?
f)  Define ‘Statistics’.
g) Define Population and Sample with example.
h) Define ‘Matrix’.
1)  What is Index Number?
7)) What is scatter diagram?
k)  Give two example of column matrix?
)  Whatis optimal feasible solution?

PTO.



02) Attempt any five of the following. [25]

a)

b)

c)

d)

g)

Find the Simple Interest on Rs.40,000 For 5 years at 12% p.a.

Find the EMI on a loan of Rs.3,00,000 to be paid in 4 years at 12% p.a.
on the outstanding amount at the beginning of each month.

Explain any the types of Matrices?

Explain the Concept of Entry Load and Exit Load in Mutual Funds.
Compute the mean, median and mode of the following observations.
61,62,63,62,63,62,64,64,60,65.

Following is the frequency distribution of number of students according
to marks scored in a certain examination:

Marks 0-19 | 20-39 | 40-59 | 60-79 |80-99

No.of students| 8 26 24 12 5

1)  State the types of classification.

i)  Obtain the class boundaries of the third class.

i) Class width of the fourth class.

iv) Class-mark of second class.

v)  How many students getting the marks less than 79?
Which of the following is better investmet? (F.V.is Rs.100)
) 8% at X80

i) 15% at 120

[6032]-SODL-1004 2



03) Attempt any five of the following.

a)

b)

d)

e)

[25]

From the following data calculate price index number for 2019 with 2009
as base by using fisher’s Ideal Price Index Number Method.

Commodities 2009 2019
Price Quantity Price Quantity
P 40 70 60 65
Q 30 80 55 80
R 50 50 75 70
S 35 40 50 65

State the properties of Karl Pearson’s correlation coefficient.

Rank obtained by eight students in English and mathematics are given
below.Compute Spearman’s Rank Correlation coefficient.

Rank in English

8 |5 |3

1

2

6

4

7

Rank in Mathematics

716 |2

4

1

Evaluate the following Determinant

1 2
=2 3
5 1

5
If AZ{
3

f)  Explain SRSWR and SRSWOR.

[6032]-SODL-1004
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g) Draw histogram for the following frequency distribution.

Marks 0-10| 10-20| 20-30 30-40 | 40-50 [50-60
No.of students | 15 25 60 40 35 |25
04) Attempt any one of the following. [10]

a) 1)  Write Note on ‘Construction of Index Numbers’.

i) Define the linear programming problems. State the key terms in
L.P.P.

b) Following are the values of import of raw material and export of finished
products in suitable units, calculate Karl Pearson’s Coefficient of
correlation between import of raw material and export of finished
products.

Import of raw material 10 (11 |14 | 14 (20|22 |16 |12 |15]13

Export of finished products(12 |14 |15 [ 16 [ 21|26 | 21| 15]|16|14
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Total No. of Questions : 4] SEAT No. :

P4344 [Total No. of Pages :3
[6032]- SODL -1005
F.Y.B.Com.
114 B : COMPUTER CONCEPTS AND APPLICATION
(2019 CBCS Pattern)
Time : 3 Hours| [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Attempt any ten. [10]
a) is the primary control program for managing all other programs

b)

d)

in a computer.

1)  An Operating System i)  AnApplication Program
i) MS Office 1v) The Binary Program
The s a small input device used to select and display objects on
a screen.

i)  Pendrive i) Modem

i) Light Pen 1v) Scanner

1s the combination of a column letter and a row number.

1)  Writing space i)  Cell address

i)  Memory iv) Formula bar

Theterm  refers to the tools and methods used to perform various
office activities.

1)  Office automation i)  Office work

i) Daily work iv) Accounting work

The network ~ is a centralized distribution point for all data

transmission in a network.
i) hub i) NIC

i)  Switch iv) LAN
PT.O.



f) E-Commerce is defined as a business activity which uses medium.

1)  digital i) anelectronic
i) analog iv) transmission
g)  ofinformation is currently the largest commercial activity on the
web.
1)  E-Banking i)  E-Publishing
i) Catalogues iv) Advertising
h)  1isone of the major e-commerce activities.
1)  E-Publishing i) Communication
i) Webimaging iv)  Online Shopping

1)  The virtual auction is a system followed by popular websites like .

1)  Amezon i) flipkart
) ebay iv) Non of the above
) The two components of  design are front end and back end.
1)  transactional 1) website
) database iv) GUI
k) A playsavital role in securing an online transaction.
1)  Master card i) RTGS
i) Digital certificate iv) Point of sale

)  Long form of UPI is

1)  Unit Pay Interchange
i)  Unit Play Interaction

i) Unified Password Interface

iv) Unified Payments Interface.

[6032]-SODL-1005 2



02) Attempt any five. [25]

a) Explain characteristics of computers.
b) What are the characteristics of a virus? Explain types of Viruses.
c) Explain applications of Information Technology.
d) Explain file system and file organization.
e) Discuss types of computer networks with diagrams.
f)  What are the Netiquettes of e-mail?
g)  What are the functions of E-Commerce?
03) Attempt any Five. [25]
a) Explain various E-Commerce activities.
b) Discuss all the required steps of design and develop E-Commerce website.
c) What are the advantages and disadvantages of online marketing?
d) Explain the goals of SCM.
e) What are the advantages of EDI system.
f)  Discuss steps of Electronic Payment.
g) Differentiate between E-Commerce and M-Commerce.
04) Attempt any one. [10]
a) Explain Block Diagram of Computers with diagram.
b) Describe types of M-Commerce.

[6032]-SODL-1005 3



Total No. of Questions : 4] SEAT No. :

P44 Total No. of Pages : 4
>8 [6032]-SODL-1006 [Total No- of Pages
F.Y.B.Com.
115A : ORGANIZATION SKILL DEVELOPMENT
(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10x1=10]

)

Vi)

Vi)

What is the definition of a modern office?

a) A place with computers

b) A place where people work

c) A place where traditional methods are used

d) A place with advanced equipment and technology
What are the principles of office location?

a) Random selection

b) Proximity to a shopping center

c) Accessibility and cost-effectiveness

d) Officesize

What does “Office Layout” refer to?

a) The design of office furniture

b) The arrangement of office equipment and employees
c) The location of an office in a building

d) The layout of office documents

What is the importance of office organization?

a) It saves paper

b) It increases office expenses

c) Itenhances efficiency and productivity

d) It adds to office complexity

What is the main aim of Scientific Office Management?
a) Reducing office costs b) Increasing office supplies
c) Enhancing office creativity d) Improving office efficiency
What is the objective of office records management?
a) To create more paperwork

b) To lose important documents

c) To efficiently manage and check records

d) To increase record duplication

What are the advantages of digitalization of records?

a) Increased physical storage space

b) Improved record security

c) Slower access to information

d) Higher printing costs

PTO.



vii)) What is SMART in goal setting?
a) Clever, Well-thought-out, Logical, Practical
b) Specific, Measurable, Achievable Realistic, Time-bound
c) Simple, Meaningful, Attractive, Relevant, Tangible
d) Strategic, Methodical, Aspirational, Relevant, Timely
ixX) What does time management in the office involve?
a) Clock-watching
b) Making everyone work overtime
c) Efficiently using time for tasks
d) Ignoring deadlines
x)  What are recent trends in office communication?
a) Sending more memos
b) Using carrier pigeons
c) E-mail, Video Conferencing, Tele-Conferencing, Internet, Intranet,

WWW, etc.

d) Writing longer letters

X1) are issued to convey the same information to many employees
of an organisation.
a) Office orders b) Ofice circulars
c) Office memos d) None of these

Xil) machine is used to record speech on different media.
a) Duplicating b) Dictating Machine
c) Telephone answering d) None of the above

02) Attempt any five out of seven from the following : [5x5=25]

a) Explain the factors affecting Office Location.

b) Briefly explain the various managerial skills.

c) Explain the techniques of Scientific Office Managment.
d) Explain the features of ideal flow of work.

e) Explain the importance of Records Management.

f)  Elaborate on the nature of management in details.

g)  Write a note on -Office routine.

03) Attempt any five out of seven from the following : [5x5=25]
a) Comment on the objective of communication.
b) State the types of modern office machines.
c) Elaborate on the techniques of time management.
d) What are the objectives of an office layout?
e) What are the advantages of digitalization of office records?
f)  Discuss the advantages of standardization.
g)  Write the different types of organisations?

04) Attempt any one out of two from the following : [1x10=10]

a) Elaborate on the different kinds of barriers that can affect communication.

b) Whatis workflow? Explain ways to streamline work flow and barriers to
work flow.

VOVQ

[6032]-SODL-1006 2



Total No. of Questions : 4]

P4458 [6032]-SODL-1006
F.Y.B.Com.
115A : ORGANIZATION SKILL DEVELOPMENT
(2019 Pattern)
(WISt TUTER)
% : 3/ /TR 0T 70
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Total No. of Questions: 4] SEAT No. :

Total No. of Pages: 4
PA4SI [6032]-SODL -1007 [Total No- of Pages
F.Y.B.Com.
115B : BANKING & FINANCE
(2019 Pattern)
Time: 3Hoursg] [Max. Marks: 70

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Attempt any ten from thefollowing. [10]
1) InIndiatotal - Private banks were nationalized.
a 20 b) 14
c) 27 d 06
i)  Give complete full form of KYC
a Know your customer b) Know your care
c) Keep your cheque d) All Above
i) thisis mirror of bank operations.
a Report b) Pan
c) BalanceSheet d) Regulations
Iv) A negotiable document is :
a Nontransferable b) Transferable
c) Blank d) lllegd
v) Thechequeisan order given payable to :
a To the company b) To the person
c) TotheBank d) To the govt.
vi) Regarding the cheque, the main purpose of drawingisto receive
a Profitability b) Liquidity
c) Rights d Safety
vii) the card can be used for transactions when there is no balance
in the bank account.
a A.T.M. Cad b) Smart Card
c) Credit Card d) Aadhar Card
viii) Asan alternative to net banking spread rapidly.
a TeeBanking b) E-Banking
c) CoreBanking d) MobileBanking
iX) SBI Bank was established in .
d 1March 1947 b) 1May 1955
c) 1March1982 d 1Junel975

PT.O.



X)

He is known as the father of banking businessin India
a Puyai b) Agency houses
c) Money Lender Goldsmith d) Co-operative Bank

xi) According to the Reserve Bank of India Act, 1934, Indian Banks are

classified into general :
a Commercia Banks b) Non-Scheduled Banks

c) Scheduled Banks d) Bothof (b) & ()
xii) Banking business Regulation Act
a 1949 b) 1934
c) 1955 d) 1991
Q2) Attempt any five. [25]
ad Explainthe primary functions of banks.
b) State the characteristics of R.T.GS.
c) Short notes on ‘Regional Rura Bank'.
d) Short notes on Term Deposits.
e) Briefly describe the account opening procedure.
f)  Explaintheprincipleof ‘profitability’.
g) Explaintheeffect of endorsement.
Q3) Attempt any five. [25]
ad Explainthetypes of ‘endorsement.
b) Short notes ‘Letter of exchange'.
c) Statethe advantages of ‘Net banking'.
d) Briefly writethe modern trendsin bank technol ogy.
e)  Short notes ‘ Principles of banking Safety’.
f)  Write anote on Bank short term loans.
g) Statethetypesof Institutional account holders.
Q4) Attempt any one. [10]
a Definethebanks, explain the evaluation of banking businessinAsia
b) Explainthedifferent methods of remittance.
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115B : BANKING & FINANCE
(2019 Pattern)
(WISt FUTR)
% : 34| [ wsgut Ut : 70
guAat:- 1) Hd U Ay .
2) ARSI 37k TIATS YUl T YT
¥.1) hivTadl <81 9 |iea. [10]
)  WRATE TROT ... WTERT SehTel TEEIHI0T THUHTd AT
A) 20 a) 14
&) 27 g) 06
i) KYCagui®ue...............
) IR FER ) A gIR KW
®) iU IR T® g) =lead
11) JSSn T kel SHTHERISTTEI STRET 3R,
3) A d)  AREEl
&®) diBeag g) fFaweeh
IV) e U srEal
H)  STEEEwE q) T
&) &I ) AHERIIR
V) SR .o, facten smew sreat
HA)  HUHT q) S<hien
&) Sehedl T) WEHEA
Vi) SAIRINEE ............ TH U1 1 TSR T g et
HA)  AH q)  IWEa
®) AfER g) e
Vi) =R T U9 g A SIEER U ... SIS SATUR T Al
A) UAH.TH. wE 9) e wE
&) chele @I ) INYUR w1
Viii) 2 SITRTeT U= RUE ... SR AT TER ST
) ool S ) g-dfhn
&) ISR SfehT ) WS SR



iX)  eerreeeeens Te SB| skl TATIHT ShuaTd SATe.

) 1w 1947 7) 1w1955
*) lura 1982 g) 1sm19/5

X) HRATHE seh SATEET Th TGO ..o T B 1.
H) YA F)  wfdHe TR
®) UTEHR U g) UgHW Th

Xi) WA AT faHRTl e e oIt giean wEer 1934 ToR S e .. ..............
19Tt et .
) AN et ) g st
®) g S g) q= T aw

Xii) R TEE IR T .,
HA) 1949 ) 1934
®) 1955 g) 1991

Y.2) hiurdgt ura I9H EEa. [25]

HA) el AT HE WE w0

q) AR . . TE. o IO 9nm.

&)  WieR unfior o v fou foran.

¥) hIeTEs 3t — = foun =,

Z) TId ATATruaT Sfshan SNSaRITd 9.
W) sk T ded T8 .

T)  USSTeRATY URUTH fvE .

T7.3) U ure 9 Hrea. [25]
) USRI TR favre w.
9) e o g fea e,
&) A TR WIS TR,
g) S aAFEIAA ST JaTg Uisea fotet.
3)  feu forr—sera gufaraan ae.
W) SRl STEUHgH! et AR feun forar.
) EEATHS: Wiaerr fafae yer amm.

¥.4) hIvTaTe! Uk U9 dred. [10]

) SRl AR R, RETI s STaamEre Ikl foere .
) 99 ursfaruaren fafae ugdt wre w0,

¢ ¢ o
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[6032]-SODL-1008
F.Y. B.Com.
115C : COMMERCIAL GEOGRAPHY
(2019 Pattern)
Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.
2) Neat diagram must be drawn wherever necessary.
3)  Use of map stencils is allowed.
4)  Figure to the right side indicate full marks.
Q1) Attempt any ten out of twelve from the following : [10 x 1 =10]
a) State any two approaches to study of commercial geography.
b) Give any two examples of quaternary activity of man.
c) Name any two physical factors affecting on human economic activities.
d) Give any two examples of manmade resources.
e) Give any two causes of soil pollution.
f)  What is dependency ratio?
g) What is mean by balance of trade?
h)  Give any two advantages of under population.
1)  State any two name of gases causes air pollution.
j)  Whatis international trade?
k)  State any two physical factors affecting on tourism.
)  Give any two disadvantages of Chloropleath method.
02) Attempt any five out of seven from the following : [S x § = 25]
a) Importance of commercial geography.
b) Explains the cultural factors affecting on human economic activities.
c) Renewable resources.

PT.O.



d) Consequences of the migration.
e) Explain the geographical factors affecting on industrial location.
f)  Explain the physical factors affecting on trade.

g) Role of government in tourism development.

03) Attempt any five out of seven from the following : [S x § = 25]
a) State the approaches to Commercial geography.
b)  Write the causes of air pollution.
c) Give the characteristics of Indian population.
d) Explain merits and demerits of the air transportation.
e) Write merits and demerits of over population.
f)  World trade organization.

g) Isolines.

04) Attempt any one out of two from the following : [1x10=10]

a)  Whatis economic activities? Explain various types of economic activities
in details.

b) Explain geographical factors affecting on Tourism Development.

u|mim
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3)
4)

[6032]-SODL-1008
F.Y. B.Com.

115C : COMMERCIAL GEOGRAPHY

(2019 Pattern)
(TSt EUTR)
[ T 7o - 70
TG T ST .
SHTAYTS A9 G HTHT FIaT.
THIIN IHT FTGRITH Gear1 g,
I ATTHEIT 37k GUT 0T FIIAATE.

w7 1) @it wowd 10 g S [10 x 1 = 10]

AR SFATEAT ShIVTCTE S AT TGl |R.

Tqeieh STk SHGHTETH! VTSl g SETERul gal.

HHATEAT ST SATETETER URUTTH SHIUTR SHIUTE! g JTehideh T2 di.
Aa fAfda e dusi 24 3erEwor |,

TET TGNV SHIVTAE 1 SO T

AT HR FEUTS 1 ?

IR Tge FgUTS i ?

AW AR TEUTH 1 ?

TEATER URUTH SHIUTR SRHIUTAE! G TShideh Hesh §m.

BT UG THIM THIVTAE! EH dle T

T¥72) WIeicidehl SivaEl 5 I3 digd. [S x 5§ = 25]

H)
=)
%)

N AT Aga.
HHETAT AT SHAHETER URUTH SHUTR HRTi{eTsh 9eeh 9.

YA TIehu T TIEAEIET.
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97 3)

97 4)

g) T TR,

3)  SCHMUTATEAT TATRIHIUTER TNUTH FHUTR HRNToTeh Teh dhT.
W) THTURISR UNUTH HIUTR UTehideh 9eh.

T)  Ued TRt ST e

WTeiteTieh! hIvTAE! 5 T3 Wigd. [S x § =25]
)  SHAUR AT STETE Ugelt TR,

q) g UgEUTEH HRUl forgr.

F) HRAE AREGIAH! AT A

¥) EAIE arggeh g, die ¥ .

3) i eieheea FU e W o wreg die fem

W) STtk SR wEeA (WTO).

T)  GHEET T

WTATTdeh! hIvTaTe | T93 Eigan. [1 x 10 = 10]
) ool SaET™ TEUR I ? € U AT TehRTe |ieRR Ui .
¥) UdedreR uRumm o fafay dimferes gew e .

u|mim
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EY. B.Com.
DEFENCE ORGANIZATION AND MANAGEMENT IN INDIA
(2019 Pattern) (115D)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10]

1)  Which institution has developed the Vertical Launch Short Range Surface-
to-Air Missile (VL-SRSAM)?
a) DRDO b) HAL
c) BEL d) BHEL

1))  Which company is set to offer multipurpose drones for strategic
operations of the Indian Army?
a) Garuda Aerospace b) Pixel Aerospace
c) Bharat Dynamics Ltd d) Bharat Electronics Ltd

i) Indian Army Chief General Manoj Pande was conferred with the honorary
rank of General of which country?
a) SriLanka b) Bangladesh
c) Nepal d) Myanmar

iv) Indian Army and Indian Air Force conducted a Joint Exercise named
‘Gagan Strike’ in which state?
a) Andhra Pradesh b) Uttarakhand
c) Sikkim d) Punjab

v) ‘Samanvay 2022’ is a Humanitarian Assistance and Disaster Relief
(HADR) Exercise organised by which armed force?
a) Indian Army b) Indian Navy
c) Indian Air Force d) Indian Coast Guard

vi)  Who approves the introduction of new design for President’s Standard
and Colour and naval crest for Indian Navy?

a) Naval Chief of India b) President of India
c) Supreme Court of India d) Prime Minister of India
vil) What is the name of the fifth Scorpene-class submarine recently delivered
to the Indian Navy?
a) Vagir b) Virat
c) Vaaman d) Varun

vii) Korwa ordnance factory is manufacturing AK-203 assault rifles in a joint
venture with which country?

a) Japan b) Russia
c) USA d) France

PTO.



Which Union Ministry is the top buyer of goods and services from
MSME Sellers in 20227

a) Ministry of Defence b) Ministry of Finance
c) Ministry of Steel d) Ministry of Rural Development
x) ‘VAYAM RAKSHAMAH (We Protect) is the motto of which armed force?
a) Indian Army b) Indian Navy
c) Indian Air Force d) Indian Coast Guard
xi) Israel Aerospace Industries (IAI) signed MoU with which Indian
organisation to form a joint venture related to Armed Forces?
a) HAL b) ISRO
c) BEL d) DRDO
xil) Muhammad Yunus, the Nobel laureate who was seen in the news, is from
which country?
a) India b) Pakistan
c) Bangladesh d) SriLanka
02) Attempt any five out of seven from the following : [25]
a) When is Army Day celebrated in India? State the historical background
of it.
b)  Write a short note on National Emergency.
c) Whatis LAC?
d) What are the Functions of NSC?
e) State the four mission objectives of the intelligence community.
f)  What is a war?
g)  When was the BSF established? State the historical background of it.
03) Attempt any five out of seven from the following : [25]
a)  Write briefly about the Indian Navy.
b) Write a short note on the Ministry of Defence (MOD)
c¢) Who heads the ICG?
d) Name the Five Central Armed Police Forces (CAPF).
e) What are the Responsibilities of SRPF?
f)  What is the aim of economic warfare?
g)  What are Natural Calamities?
04) Attempt any one out of two from the following : [10]
a) Explain the Development of the Indian Air Force.
b) What is the Importance of the Western Air Command of The IAF?

VOOV
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DEFENCE ORGANIZATION AND MANAGEMENT IN INDIA

(2019 Pattern) (115D)

(WISt TUTER)
% : 3/ /TR 0T 70
o - 1) EE T wisfaut savesh .
2) SHEREA ek TS YUI U FEIeAT.
. 1) f=h o= gei o/ ushitees fag uva. (FiordEt gan) [10]

i)

Vi)

vii)

T FEOR afdehal oliva viie I T2 —U3R firmmset (VL-SRSAM) forenfema
FHA IR ?

A)  SemwEEn ) TuwuA

%) o g) o«

VT HOH TR TSRS RO SIS SE3evid 3 TR SHUTR 3R ?
A) TES WEH q) foe e

) WRA SEHHEE T, g) WRd soagi-ed for.

TR TSFETIE SR AT UTS T ShIOTe ST SiHTet UgH ST ShUaTd STt ?
A)  sficient q) TR

®) U T) wWHER

TR TS SATUT HRATS ST ShIUTE TS TR T215eh AT HTh TRIa Shetl ?
HA) Y T q) IWES

*) Trbm T) UNe

qu 2022 g1 AHEdTaT Tgre 3ot smosit Framut (HADR ) ©RTE shivten d9res
TAM ST HelT TR ?

HA) WRAE A q) WA died

%) WA ATgE 3) W deRer I

ARA AEAS! UHESea e 3T HoR MU Foget shieardt TaH [S2ime |iet
THUATH U1 AT 2 ?

) YRA™ g THE ) R AgU

®) WA T =AEER T) WRA YaueH

TR FEATAT STeAiha JUaT ST UTere Whidia—Siuft Tt A1a it 318 ?
) TR 7) foe

&) TEA ) T



viil) hRaT gy Fmivft SR S s 99 SUsEAa AK-203 stEiee TEEa

A 3R ?

H) U ) W

%) U T) WA

HIUT e WA 2022 AL THUHUAS forsheaishgd o STTiUT |l |aiier
TSGR AR ?

3) TR W q) 31k U

&) Ui W ) i e wEeE

‘T & (TR TIRAUT FHAl) B RIUTE HIEA AT SIS 3 ?

) ARAE A= d)  HRAE Ated

®) WRAE aIge ) HRAY qEETH g

TEEFE! TR SEI (IA]) 3 hivTe AR S iad TR ene geie g3
IUSHA TATI HIUITHTS! TTHET HIR hedl ?

¥) TEA ) T
&) diguA g) SemEien
xil) erer uTiaifves foeia mgme I9E @ T 39T 3 ?
HA) WRA q) O™
) AR g) sficiemt
Y. 2) Wrefiet Aiauehl shivTdgl U 993 drea. [25]
) ARAE TR &R FeElt A Shert STt ? e Uitk urvesydt T,
¥) W AR U Bidt 4 forgn.
%) LAC Wi & 7
g) NSC < % &l 3R ?
3)  THER TUEETE UR 39 3 .
W)  Ig RN A ?
T) BSF =it Tt shegt 3imelt ? it Ufergiiiies uvdeH @i
Y. 3) Wieiie |rauehl hivTdg! urel 99 Tgan. [25]
) WRAHE AieeTEgEe dree fort.
) TR HATTER Uk Bidt du fergr. (MOD)
#) ICG = Iq@& <hivT 3 ?
) U™ g A Uife™ getren (CAPF) Ama @nm.
g) SRPF = @Al sid R4 ?
%) ot g 3igee W e e
) Fafifer U U HE?
Y. 4) Wreficl Uh! ShivTargl Uk T3 diga. [10]
) WRAHE gATE TATSAT {hTaTel TSI .
d) |AF =1 9t U3R ST A & e ?
VOV
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F.Y. B.Com.

115-E : THEORY AND PRACTICE OF COOPERATION

(2019 Pattern) (CBCYS)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.
2) Figuresto the right indicate full marks.
Q1) Attempt any ten out of twelve from the following. [10]
I)  Co-operative movement originated first in
a Germany b) England
c) France d) Spain
i)  The Co-operative SocietiesAct was passed in Indiaintheyear .
a 1904 b) 1912
c) 1919 d) 1949
i) 'One man one vote' principle wasrecommended by ~~ committee.
a Gorwaa b) Maclagan
c) MintoMorley d) Montague Chelmsford
Iv) The member of a Co-operative Society has ~ liability.
a Limited b)  Unlimited
c) Joint d) Jointand Several
v) Apex Society means _ level society.
a Nationd b) State
c) District d) Village
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vi) The President of a Co-operative Society is

a Owner b) Employees
c) Officer d) Adviser
vi) In___ vyear, thefirst Co-operative Society law formed in India.
a8 1950 b) 1947
c) 1904 d) 1948
vii) _ regulatestheregistration and other activities of a Co-operative
Society.
a NABARD b) SBI
c) SEBI d) RCS
iX) The word 'Co-operation' derived from language.
a German b) Latin
c) Itdian d) Greek

X)  The basic idea behind Co-operation is
a Sdf-helpand mutual help b) Sdf-help
c) Mutua help d) Eachforall andall for each

xi)  Which of the following organizational structure is followed by Co-
operativesinIndia?

ad Unitary Structure b) Federa Structure
c) Centraized Structure d) Decentralized Structure

xii) Interest Rate of Deposits of a Co-operative Credit Societies are fixed by

a Registrar b) Government
c) RBI d) General Body
Q2) Attempt any five out of seven from the following : [25]

ad Explainthe objective of Cooperation.

b) Mention any four strengths of cooperative societies.
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c) Why has HRD emerged as the weakest aspect of cooperatives?
d) Distinguish between co-operation and Capitalism.

e) Explainthefunctionsof NABARD.

f)  What are the sources of fund for a credit co-operative society?

g) Writeashort note on 'Privatization'.

Q3) Attempt any five out of seven from the following : [25]
ad  What wasthe ultimate objective of the National Policy on Co-operatives?
b) Discusstherole of leadership in cooperative society.
c) What ismeant by Co-operative Movement?
d) What are the main features of Labour Cooperatives?
€) What are the varioustype of Industrial cooperatives?
f)  What arethethree significant characteristics of aleader?

g) Writethe principles of Co-operation.
Q4) Attempt any one out of two from the following : [10]

a Examinethe principlesof cooperationlaid down by the Karve Committee.

b) Discussthe development of cooperative movement in India.
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115-E : THEORY AND PRACTICE OF COOPERATION
(2019 Pattern) (CBCYS)
(TSt EUTR)
de : 3 ard | [ Tegor 7707 : 70
goar: 1) §d gvT sifard siga.
2) IS AR HIHS YUl T Ftedrd.

T 1) el aRTaeh RIvTE gt area. [10]
) g sl SAfd T ... J9 AL
H) HEA g) TS
®) W ) WA
i) CERN TR HE HTEAT ARATA UTRA ST
) 1904 ) 1912
%) 1919 g) 1949
jii)  “uek UUE U wa' aware R e AfdA et .
H)  TRETEN F) Wk TN
%) Fe e B) Wi IS
V) TEhit TR HEETR ... . Tifrea
) wEiied F) i
*) wgH T) T I SHE
V) U AEEE U TAUEHA TS
) W T) TH
®) e g) T
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Vi) TEi TROR 1A ... R4,

) HAH ) HEEW
®) iR g) HeemR
\V/]) I T WRAT igeTl Tgehil AT THFel dar e,
) 1950 ) 1947
%) 1904 g) 1948
V(1) I TR TR Aiquit 31T 3R fRamerety FEta .
H) A q)  TEEIE
®) Wt g) ARHTE
iX) ‘OgER FIER ........ TN STTEAT 3T
HA) A q) wted
%) gerferd T) w

®) UER HSd
g) RS AT TS Tl
Xi) YRATHE AgehRl TEAT WeHeTueh! ShiuTd TEeHTeHE AT 3118 ?

HA) UehIcHR oL )  ™hetd TaR

®) chgichd AT g) fochda @
Xii) T qaEEd=a deiie St R fAfvea Fet e,

H) Fowrad ¥) R

®) ARSI g) TRA TS
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97 2) WIciiciiehl TTadeh! hiuTdg! urel Joret . [25]
) TEHNE (e TWE H.
q)  TEHN TEATAT HIVTTE TR Ve S .
®) UGS TR 3 HERRTAIS Aaid SHGad Uc] g i ST ST 311 ?
T) WEHN AT HISTAINE AT Fleh 5.
3)  ATTESE hE WE .
W) Ud Ggehil SRUETEt fef Jia i atga e
g) WU TR Uk Bidl 4 o

97 3) WIciicTdehl TTadeh! hIuTdg! uTel JoIet . [25]
) CEhHRITYIE TP LR 3ifan 3Re %@ g e
F) AEHN TR AqeaTen Yk Tt .
*) UETHR TSTS WU i ?
T) IR WEHhI FEATN HEIATTSE hIvTl 3T ?
3)  Sitenfier wEwr T fafay ywRr v snga ?
W) HeTdt diF @eTui SfTest v ?
) UEHNEN a o

97 4) WIcitel SHUh hIvTaTE! Ueh I3 Tga. [10]

) A AR e fecte TR avea Uit .
d) HRATN UghN ASacseal Rl =<t .
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115-F: MANAGERIAL ECONOMICS
(2019 Pattern) (CBCYS)

Time: 3Hourg] [Max. Marks: 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright side indicates full marks.

3) Draw thediagram wherever isnecessary.

Q1) Attempt any Ten out of twelve from the following. [10x1=10]
I)  Managerial Economicsalso called as:
a Microeconomics b) Macroeconomics
c) Business Economics d) None of above
1)) Means want satisfying power of a commodity.
a Demand b) Supply
c) Utility d) Price
i) Means a desire for a commodity backed by the ability
and willingnessto pay for it.
a  Supply b) Demand
c) Price d) Cost
IvV) Indifference Curve developed by:
a Marshdl b) FY.Edgewoth
c) Keynes d) None of above
V) Is related to time place and person.
a Supply b) Crosseladticity
c) Pricedasticity d) Incomeeadticity
Vi) Is predicting the future demand for firm’s product.
a Demandforecasting b) Cost forecasting
c) Profitforecasting d) All of theabove
vii) Cost is the total actual cost incurred on the production of
goods and service.
a Totd b) Fixed
c) Average d) All of theabove
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viii) Isamathematical presentation of input-output relationship.

a Supply Function b) Demand Function

c) Cost Function d) Production Function
IX) Means the creation of product.

a Production b) Supply

c) Demand d) All of theabove

X)  Cost-plus pricing is aso known as.
a Averagecost pricing
b) Marginal cost pricing
c) Total cost pricing
d) All of theabove
xi)  Innovation theory of profit is developed by.

a Schumpeter b) Knight's
c) JB.Say d) All of theabove
xii) The Pay-back period is aso known as.
a Pay-Off b) Pay-On
c) Pay-Mixed d) All of theabove
Q2) Attempt Any 5 out of 7 from the following. [6%5=25]

i)  Explain Scopeof Managerial.

i)  Explain Survey Method of Demand Forecasting.

i) Explain concept of Consumer Surplus.

Iv) Explainlaw of returnsto Scale.

v)  WhatisProfit Management? Explain how profit ismeasuring.
vi) Explain Methodsof Capital Budgeting.

vii) Explain meritsof MNCs.
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Q3) Attempt Any 5 out of 7 from the following. [5%5=25]
)  Explain Types of Cost.
i)  Explain Concept of Marginal Cost Pricing.
i)  Explain Nature of Capital Budgeting.
Iv) Explain Components of Pricing of the Product.
v) Explain Concept of Utility.
vi) Explain Determinantsof Supply.

vii) Explain Concept of Production Function.

Q4) Attempt Any 1 out of 2 from the follolwing. [1x10=10]
)  What isElasticity of Demand? Explain Types of Elasticity of demand.
i)  What is Partnership? Explain merits and demerits of partnership.

¥ %k %k
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(TSt TUTR)
3% : 3 ] [ wsgut U1 : 70

guat:- 1) §d Uy Argfau sifem sma.
2) IR 37k YT T[T SYfeT.
3 9 smavas swe fad smewdt wret.

Y. 1) @Teiict SRIdht ShivTe gl S9 Higal. [10x1=10]
) TR SHIVITETEAT STEE! Tl M.
H) el v q)  AEEt s
%) =T el g) =lter Geht A
1) SO TEUTS HIHE TRST YUT STt &THaT 3
1) WHETUR 9) gEel
®)  SURRE ) @
11) IO rgurs fafvrs deen fafirs fhmdion et heft o sl Twreren
2.
31) YEel ) HFTOR
%) Fhma T7) @
V) W a5k At foehiea e
) WHWA 9) U 9. TeaYd
%) g) eicTaeht @
V) e T 905, SN 30T SE=AIe ferdia o,
) ISl ) Ve rArIHRAl



V) e TEUTH IeUTE HEIS S Wiersamediet armuften Sigr et

.

)  HTTURen gEeE ) gdsiEe

%) T qESE T) e
/1) ISR WETHEA U aRtereh Tl & Icd1eH & Vel Wi Turast 2.

HA)  THRA a)  fer

®) W g) i@ Ed
Viil) STEF 9 YgF AT AIRAE TG ... ... JH .

) YRS W q)  HETON e

®) W B ¥) I Fed
iX) e TS g e 2

3) I ) Y@

%) Wl g) afwa

A)  wEd T Rt 9) o T R
W) TEA G R g) alawd
Xi) o T g I HTSeT.
q)  YdrR ) e
®) [A.A g) olwud
Xii) OREATE UG . S A,
HA) OIarET "o q) oaEr
®) At g) alerHd
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¥.2) Wrefiet Aiaueh! urer 999 S [5x5=25]

) TR YT T TE .
i) wmTite Ydaierael Ta Ugdl TS .
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F.Y.B.Com.
116 A: ESSENTIALSOFE-COMMERCE
(2019 CBCS Pattern)
Time: 3Hourg] [Max. Marks: 70

I nstructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Attempt any ten. [10]
ad  Which type of e-commerce involves transactions between businesses
andindividual consumers?
) B2B i) B2C
i)  C2C iv) C2B
b) What isthe primary function of the Internet in e-commerce?
1)  Providing physical products
i)  Facilitating online payments
i) Managing inventory
Iv)  Printing receipts
c) Whatisthefirst stepinregistering an Internet domain?
I)  Designingthewebsite
i)  Choosing a hosting provider
i)  Creating website content
Iv)  Checking domain nameavailability
d) Which Internet service allows usersto send and receive emails?
i) FTP(File Transfer Protocol)
i)  HTTP (Hypertext Transfer Protocol)
i)  VolP (Voice over Internet Protocol)
Iv) SMTP(Simple Mail Transfer protocol)
€) Which domain extension is commonly associated with no-profit

organizations?
) .com i) .org
i) .net Iv) .edu

PT.O.



f)  What isakey requirement for secure e-payment systems?
)  Sharing passwords openly
i)  Using public computers for transactions
i) Encrypting sensitiveinformation
Iv)  Sharing credit card details over socia media

g) How doesadebit card work in an e-payment transaction?
) Itextendsacredit lineto the user

i) It deducts the transaction amount directly from the linked bank
account

i) Itallowsunlimited spending

Iv) It requires physical presence at abank branch
h)  What isapost-payment service in e-commerce?

i)  Paying in advance for products

i)  Making payment after receiving the product

i) Paying through bank transfersonly

Iv)  Using only credit cards for transactions

1)  Which Indian online payment portal offers services such as payment
gateway, merchant accounts, and more?

) CCAvenue i) Paytm
i)  BHIM iv) UPI
J)  What does UPI stand for in the context of online payments?
) United Payment Interface
i)  Universal Pay Integration
i) Unified Payment Interface
Iv)  Unique Payment Indentifier
K) What isapayment gateway?
) A secure password for online transactions
i) A physical devicefor making payments
i) Anonline service that processes e-payment transactions
Iv) Atypeof ewalet
)  What isthe main purpose of EDI?
1)  Socia networking
i)  Sendingemails
i) Online shopping
Iv)  Exchanging businessdocumentselectronically
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Q2) Attempt any five, [25]

a) Explaintherisksinvolvedin E-Commerce.
b) Explainthe B2C Model and state advantages and disadvantages of B2C
model.
c) Discussthe application and benefits of mobile commerce.
d) Explain Digital Token based E-Payment System and itsissues.
e Explainmeritsof EDI.
f)  Discuss various modern days online payment methods.
g) Explain mgor goalsand functions of an effective SCM.
Q3) Attempt any five. [25]
a) Discuss Technologies used in B2B E-Commerce System.
b) Describe the significance of shopping cart software.
c) Explainthe Stepsto Start EDI.
d) Explain Security Lapsesin Infrastructure.
e) Explaintheessential factorswhich assist in website designing.
f)  Explain the P2P Model and state benefits and drawbacks of P2P model.
g) What aretherecent trendsin E-Commerce?
Q4) Attempt any one. [10]
a) Explaintheevolution, uses and benefits of EDI.
b) Explainthe major types of cyber crimesor client-server security thrests.
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116 (B) : INSURANCE AND TRANSPORT
(2019 Pattern)
Time: 3Hours] [Max. Marks: 70

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) A) Fill inthe Blanks (Attempt any 5 out of 7) [9]

1) Is determined on the basis of general law or laws created
In connection with insurance.
d Insuranceinterest b) Risk
c) Premium d) Return

i)  Premature death, accidental death, death dueto illness, many types
of risksin thelife of this person fall in the categories.
ad Generd insurance b) Vehicleinsurance
c) Fireinsurance d) Lifeinsurance

i) A contract that has caused harm due to fire or causes of fire is
called :
a Lifeinsurance b) General insurance
c) Vehicleinsurance d) Fireinsurance

V) transportation is convenient for transporting perishable
goods over short distances.
d Road transport b) Water transport
c) Airtransport d) Maritimetransport

V) Thefirst passenger railway in Indiawas established in 1853 in the
city of :
a Kolkata b) Ddhi
c) Mumba d) Hyderabad

vi) Thevaue of the insured goods or property is not mentioned in the
insurance policy, so thisinsurance policy is caled

a Unvaued Policy b) FixedVauePolicy
c) Mixedvaluepolicy d) Terminsurancepolicy
vii) means the importation of goods and services or the
transfer of goods and services from one place to another.
a Transportation b) Circulation
c) Relocation d) Transfer

PT.O.



B)

Match thefollowing. [9]
A Group B Group

)  Insurance ad Most expensive

i) Road transport b)  Security

i)  Railway transport c) Homeddivery

Iv)  Water transportation d) Routeandsignal system

v)  Airtransport €) Boats, ships etc

f)  Money and the bank

Q2) Answer the following questions (Any 5 out of 7). [25]
a) Explainthe concept of insurancein detail.
b) Writeashort note on whole Life insurance.
c) Explainthenatureof fireinsurance.
d) State the scope of Transport.
e Statetheadvantages of rail transport.
f)  Statethelimitationsof air transport.
g) Write ashort note on water Transport.
Q3) Answer the following questions (Any 5 out of 7) [25]
a Explain theimportance of insurancein terms of commerce and trade.
b) Explaincareer opportunitiesininsurance sector in detail.
c) Statetheimportance of Marine Insurance.
d) Explainindetal the problems of road devel opment.
e) Explainthe characteristicsof air transport.
f)  Explainthefactorscoveredin fireinsurance.
g) Explainthe problemsof air transport in India.
Q4) Answer thefollowing questions (Any 1 out of 2). [10]
a Whatislifeinsurance? Explain different types of lifeinsurance policy.
b) What is transportation? Explain in detail the importance of transport in

modern age.

> > >
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Total No. of Questions: 4] SEAT No. :
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F.Y.B.Com.
116C : MARKETINGAND SALESMANSHIP
(2019 Pattern)
Time: 3Hours] [Max. Marks: 70

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Attempt any ten. [10]
)  Market researchis function of marketing.
a Primary b) Subsidiary
c) Faallitating d) All of these
i) Brandingis function of marketing.
a Primay b) Secondary
c) Fadlitating d) Subsidiary
i)  Transportation creates utility.
a Time b) Place
c) Transportation d) Vdue
V) ensures uniformity in the product quality.
a Standardisation b) Grading
c) Sorting d) Noneof these
v)  Which standardization is used for the organisations?
a IS b) SO
c) AGMARK d) GreenMak
vi) How many stages are therein Product Life Cycle?
a 4 b) 5
c) 6 d 8
vii) Whichisthelast stage of product Life cycle?
a Introduction b) Growth
Cc) Maturity d) Dedline
viii) Penetration means prices.
a High b) Low
c) Medium d) Premium
IX) Sales promotionisa incentive.
a Short Term b) MediumTerm
c) Long Term d) Noneof these

PT.O.



X)  Win acontest is an example of
a Advertisement b) Salespromotion
c) Publicity d) PublicRelations
xi) How many stages are there in personal selling process?
a 7 b) 8
c 9 d) 10
xii) Relief funds donation is an example of
ad PublicRelations b) Publicity
c) SalesPromotion d) Advertisement
Q2) Attempt any five. [25]
a ExplaintheFacilitating Functionsof Marketing.
b) Describethe Bases of Market Segmentation.
c) Distinguish between Selling and Marketing.
d) Elaborate on the product Line and Product Mix.
€e) What arethe Factors Influencing the Pricing?
f)  Enumeratethe Channelsof distribution.
g) Describethe Elementsof Salesmanship.
Q3) Attempt any five. [25]
a ExplaintheQualitiesof aSalesman.
b) Describethefeatures of Green Marketing.
c) Writeashort note on Rural Marketing.
d) What arethe Challengesof Socia MediaMarketing?
€) Describe the process of Personal Selling.
f)  What are the levels of Products?
g) Writeashort note on Niche Marketing.
Q4) Attempt any one. [10]
a Explainthe Elementsof Promotion Mix.
b) Describe the Phases of Product Life Cycle.

> > >
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Total No. of Questions: 4] SEAT No. :
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F.Y. B.Com.
116D : CONSUMER PROTECTION & BUSINESS ETHICS
(2019 Pattern)
Time: 3Hoursg| [Max. Marks: 70

| nstructions to the candidates:

1)
2)

All questions are compulsory.
Figures to the right indicate full marks.

Q1) Attempt any TEN : [10]

)

ii)

ECS stands for
a) Electronic Conversion Systems
b) Electronic Centred System

c) Electronic Cross Systems

d) Electronic Clearning System

Consumer Protection Act is significant to

a Immovable Goods

b) Movable Goods

c) Particular Goods and Services

d) All Goods and Services

The New Consumer Protection Act come into force from
a 1%April 2019 b) 1% March 2020
c) 1*May 2019 d) 20" July 2020

A chemist sold you a medicine of expiry date, under which consumer
right you can approach the consumer court?

a Right of Safety b) Right to Seek Redressal
c) Rightto Education d) RighttoEquality

PT.O.



V) Rights of consumer are protected under Act.
a Consumer RightsAct b) Consumer BenefitsAct
c) Consumer Protection Act d) Community Protection Act
vi)  Which of thefollowing are the ways and means of consumer protection?
a) Sef-regulation by the business
b) Business associations
c) Government
d) All of theabove
vii) Why do we need to have set rules and regulations for consumer rights?

a) Toprotect and promotetheinterest of the consumersagainst unethical
and unfair trade practices.

b) To bring disciplinein the country.

c) To provide police protection to consumers during a dispute with
thesellers.

d) Itsamistomakeall the sellersfair and honest.

viii) type of E - Commerce is payment Gateway.
a B2B b) B2C
c) G2C d G2B

iX) E-Commerce may be carried out using modes.
a SMS/phone conversation b) Web
c) Emal d) All of them

X) E-Commerce platforms like Snapdeal, Flipkart, Shop clues, etc. have
scope of business.

a Nationd b) Loca
c) Globa d) None of these

xi) The E-Commerce platform should provide facility for transaction for
electronic payment.

a Secure b) Unprotected
c) Unsafe d) Uncontrolled

[6032]-SODL-1015 2



xii)

is not the ethics of Media.

a Vulgarity b) Accuracy
c) Protection of Sources d) Confidentiaity
Q2) Attempt any Five from the following : [25]
ad  Write short note on - Consumer movement in India
b)  Write short note on - Consumer Protection in E-Banking.
c) Write short note on - Consumer education in India.
d) Write short note on - Consumer Rights & Standardization.
€) What are the roles of Consumer Organizations and NGOs?
f)  Write Noteon - Ethical & Social Issuesin Advertising.
Q3) Attempt any Five from the following : [25]
ad What are the responsibilities of the consumer?
b) What arethedifferent ethicsin Media?
c) Write Note on - Consumerism
d) What are the aims of Consumer Education Programme?
€) What are the advantages of E-Commerce to Organization?
f)  What are the basic components of e-Supply Chain Management?
Q4) Attempt any One from the following : [10]
ad Explainthe need for and importance of Consumer Protection.
b) Discuss the necessity of ethicsin profession.

lClodoe
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116E : BUSINESS ENVIRONMENT & ENTREPRENEURSHIP
(2019 CBCS Pattern)
Time : 3 Hours] [Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any ten out of twelve from the following : [10]
1)  Which of the following is NOT an aspect of the business environment?
a) Natural b) Cultural
c) Profitability d) Political
1)  What are factors in the business environment over which a business has
control called?
a) Internal Factors b) External Factors
c¢) Controllable Factors d) Environmental Factors
1)  Which type of pollution is caused by excessive noise?
a)  Airpollution b)  Light pollution
c) Noise pollution d) Water pollution
1v) What are the main causes of water pollution?
a) Solar radiation and wind erosion
b) Soil erosion and deforestation
¢) Industrial waste and agricultural runoff
d) Volcanic eruptions and earthquakes
v)  Which type of unemployment occurs when workers move from one job
to another job.
a) Seasonal unemployment b)  Structural unemployment
c¢) Frictional unemployment d) Cyclical unemployment
vi) During monsoon, river water tends to be polluted compared to
other times.
a) More b) Less
c) Equally d) Notsignificantly
vil) What sets entrepreneurs apart from others in terms of innovation?
a) Entrepreneurs never innovate
b) Entrepreneurs follow established norms.
c) Entrepreneurs are risk-takers and innovators
d) Entrepreneurs are primarily managers
viii) The term “entrepreneur” has its origins in which language?
a) French b) Latin
c¢) English d) Spanish

PT.O.



What is a common trait of entrepreneurial personalities?
a) Avoiding challenges and risks

b) Maintaining a strict routine

c) Having a strong aversion to change

d) Being open to new ideas and opportunities

x) How does entrepreneurial behavior contribute to economic growth?
a) By discouraging competition
b) By minimizing innovation
c) By promoting new products and services
d) By eliminating job opportunities
xi) Why is entrepreneurship considered important for economic
development?
a) Itdoesn’t play a significant role in economic development
b) It creates jobs and drives innovation
c) It primarily benefits large corporations
d) Itleads to environmental degradation
xil) Which institution is responsible for promoting entrepreneurship in a local
geographic area?
a) International Monetary Fund (IMF)
b) Small Business Administration (SBA)
¢) United Nations (UN)
d) World Health Organization (WHO)
02) Attempt any five out of seven from the following : [25]
a) Define the concept of External Environment in the business context.
b) Propose measures to improve the impacts of Sound Pollution.
c)  Write a brief note on Maharashtra Entrepreneurship Development Center.
d) Discuss the rationale behind the need for Entrepreneurship.
e) Describe some common habits associated with Entrepreneurs.
f)  Describe the concept of conservation of natural resources.
g) Discuss the concept of regional imbalance.
03) Attempt any five out of seven from the following : [25]
a) Describe the interrelationship between the business environment and
entrepreneurship.
b)  Explain the nature of Entrepreneurship.
c) Write note - Maharashtra Entrepreneurship Development Center.
d) Differentiate between an entrepreneur and an intrapreneur.
e) Discuss the significance of “habits of entrepreneurs” in their success.
f)  Explain how entrepreneurship contributes to job creation.
g) Describe the role of “Entrepreneurship Development Institute of India
(EDII)” in promoting entrepreneurship.
04) Attempt any one out of two from the following : [10]
a) State the types of Business Environment
b) Define the term Unemployment. State the Types and Causes of

Unemployment.

303 TV
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®) THUT AT g) R SN
UTEETEATA TGt TT0T 3R Ao T . TgNa S

A) At ) Ul

%) faea g) el @

AFIYUTa=T STErdia SR SARUET STl ATeS Thid ?
) ST wef A gl s A

9) S e e utes A

®) eI g ARG HUTR 3707 TSR STEard

T) eI MG SHaEATIeh STEard

“IeNSTeR” AT T3l A HIUTET WA TATAT 3T ?

A) W q) wted
) TSI ) wWEwm



eI SHfthAcaT™ HHR A6 ™ AR ?

HA)  ITEM AT G ZTe500 q) HRHR ==t @

®) AT A guT TE0 g) I hedT T WEfiETst Tet STt
JASThRIT Ta AT AR FHH TRTEH ad ?

A) A WEA HeA

q) AT HH A

W) T I AT ST TedTg 33

g) Hiekiten well X e

JATolh St SeEnsTehan AgeaT=il Sl W SATd ?

) 3ide TR e HEcaTel QiHeRT

F) g AR AT g enfor arefi=r gut g

®) AT EEET TG WG hu=aiT gral

T) IS UHIERUTN g gral

TOqTHeh HRTIfeTeh &ITd SESTehdell AT JUITETS! ShIUTH ! TEAT SaTeeR 3R ?
) SAEE AU (EUHTR) F) oY T WeH (THE )
%) wgE Y () 3) e STRFY Hoe (S%uas)

Y.2) WiciicTueh! shivTdg! uTel T9- EiEd. [25]

TERTY SeTehdl forehTa shgTforet egera forar.
FESTehd<Al TRAHRTA dehia] ol .

Jafiier AeAEURE GO Sehed-sl aui .
TRRTeh WA I HeheTdal <= &,

Y.3) Wiciiciueh! shivTdg! utel T9- EiEd. [25]

eI FEY TR 9.

i forgt - HeERTY SEisTehal e he.

TSRTRHA SENTehd <l Sl FTAHR TANTAl § THSTEH |

ST ST QUITHTS!  TETRIRIIY SEAUHE SReeIE AT sfea (Sfesmast™)”
<A1 YRk AU

Y.4) TreAcTieh! ShIvTdTE! U I9H el [10]

)
a)

STTETRIR ATATERUT TehR T,
ST AT IS ST . ST TR (0T ShR0T AT,

303 TV
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Total No. of Questions: 4] SEAT No. :

Total No. of Pages : 6
PA465 [6032]-SODL -1017 [Total No- of Pages
F.Y.B.Com.
116F : FOUNDATION COURSE IN COMMERCE
(2019 Pattern)
Time: 3Hourg] [Max. Marks: 70

Instructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicates full marks.

Q1) Attempt any Ten out of twelve from the following. [10]
) E-commerce is a highly process.
a Sow b) Continuous
c) Medium d) Dynamic
i) The private sector business organisation is fully controlled by
their
a Owners b) Governments
c) Thirdparties d) Creditors
i) Transactions between customers and administration take place
under :
a B2B b) C2C
c) C2A d C2B
IV) Registration of a company is
a Voluntary b) Important
c) Compulsory d) None
v) Globaly, Indiaranks inretail sales.
a 1st b) 5th
c) 3rd d) 4th
vi) Expansion of Economic Activities beyond the borders of the country
IS
ad Globaisation b) Liberadisation
c) Privatisation d) Socidisation
vii) Knowledge collected through systematic effort and examinationin scien-
tific tests is
a Arts b) Profession
c) Science d) Commerce

PT.O.



viii) Startup India was started in the year

a 2016 b) 2018
c) 2020 d) 2022
IX) Science is based on
a Theory b) art
c) ill d) Knowledge
X) The word Logistics is derived from the word lodger in the
language
a French b) German
c) Ldin d) English
xi) The Indian Co-operative Act was passed in
a 1932 b) 1956
c) 1912 d) 1988
xii) Transparency and values in health tourism attract tourists.
a Democracy b) Capitdism
c) Socidism d) Dictatorship
Q2) Attempt Any five out of Seven from thefollowing. [25]
a) Explainthe characteristics of aPartnership Firm.
b) Explainthe typesof Cooperative Societies.
c) Statethe concept and definition of business models.
d) WriteaNoteon Privatisation.
€) Describetherole of Entrepreneur in Economic Development.
f)  Discussthelnnovationsin Retailingin India
g) Write aNote on Management as a Profession.

[6032]-SODL -1017 2



Q3) Attempt Any five out of seven from the following. [25]

a) Explain the characteristics of the Company.
b) Distinguish between Private Company and Public Company.
c) Statethe characteristics of successful and effective business models.
d) WriteaNoteon Liberalisation.
e Statethe benefits of Rural Tourism.
f)  Explainthetypes of E-Commerce.
g) ExplainthePrinciplesof Management.
Q4) Attempt Any one out of two from the follolwing. [10]

a What is Tourism? State its importance and types.
b) WhatisRetailing? Explainthechallengesof Indian Retailing?

¥ %k %k
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Total No. of Questions: 4]

P4465
[6032]-SODL -1017
F.Y.B.Com.
116F : FOUNDATION COURSE INCOMMERCE
(2019 Pattern)
(TSt TUTR)
3% : 3 ] [ wsgut U1 : 70

gaa- 1) e T Aisfaut e aa.
2) IR 37k YT T[T SYfeT.

. 1) ETeiicTodh! SHIvRE! gg1 I9 Hiea. [10]
) S-REER AT e afskan aTrR.
H) SR ) fRm
%) wem g) A
i) Tl ST SATETE TSR T ..o < qui e sma
3) AN 9) WerE
&) TR T) hHeieRr
i) TgeR IO TITEA AT SRR ... S AT gt
) B2B T) C2C
&) C2A g) C2Z2B
iV) RO AUl RO ... 3.
H) ueew q) Hea™
F) wHE g) ATkl AT
V)  Snfaek utaebier feentes fashimed smamn ... THHTH AT
AH) 1en 9) b=
%) 30 g) 4en
Vi) e dimeR srfiies foparen e o L .
H)  FARTRISRTOT )  IEHE
®) W T) TSR



Vi) ugavit ggen ®wEA wEsfta s e qurat €4 thfya Faa qJe

T .o, e
) el ) U
*®) T g) G
Viil) TereTd SE S GET e A AT,
F) 2016 o) 2018
%) 2020 g) 2022
iX) TR ceorreeeiieeennnn TR NG 31
a) Togm ) &l
&) hIved ) W
X) CANICHT IEE .ovvveeeennnnnns TS AT 3T JITITET SATEAT 3T
q) ) W
&) wteR g) sfew
Xi) WA TR BEET ooeeeeernnennnnnnn L FHA HUATA ATEAT.
H) 1932 o) 1956
%) 1912 g) 1988
Xii) TR THSATA TRGIHHRAT T c.eeennreenrennes e Ie UHeeh SAThivd giaTd.
A)  AHIE q) WIS
®) CHSIE g) THHIE
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Y.2) Wiciicii<hl ShIvTdg! uTel 99 TS,

Wit TXe= afvrest we &

TEHMN TR ThR T .

e AfTHHT HheuT & TRHTST |ET.
WTERTeRT AR &9 fotet.

TR forehTeTdie SEAISTehTRI et 2SI TS .

WRATHA fertehies fershiean Taeheum favre &.
ETATIA Ueh UM ITeR 19 forgt.

. 3) WiciicTiehl ShIUTdE! UTel 99 TS,

U AT T A

WAt U & HTEST(Heh ST AT Fleh T .
I T THTE ST TFdHHT G18701 TR,
IaNeRUT TTer A forg.

Trfior v W ferre .
3-hiAY o YR T FHA.
SEEATIAT A T .

. 4) Wreiiciteh! ShIvTaTg! Ush T3 Higa.

&)

=)

e WU I d AR T Uged d WehR T .

[25]

[25]

[10]

YR feRiehies SR WUt 6 A AR caaide fafae segm aferr we .

X ok %k
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Total No. of Questions : 4] SEAT No. :

P-4349 [Total No. of Pages : 2
[6032]-SODL-1018
F.Y. B.Com.
117A: ADDITIONAL ENGLISH
School of Open Learning (SOL)
(2019 Pattern)

Time: 3Hoursg| [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate marks.

Q1) Attempt any ten out of twelve from the following : [10]
a What isthe author’s opinion of the Olympic games?
b) Name the poet of the poem ‘ The World is Too Much With Us'.
c) Who isthe researcher who believes insects can think?

d) What kind of English is used by Joseph Furtado in the poem ‘The
Fortune-Teller’?

€) How should a person behave in company?

f) From which collection of poems by Rabindranath Tagore is the poem
‘Where the Mind is Without Fear’ taken?

g) What isthe name of Gandhiji’s autobiography?

h) What is meant by Shakespeare by words ‘entrances’ and ‘exists' in the
play of life?

1)  Where does the title of the essay ‘How Wealth Accumulates and Men
Decay’ come from?

])  When did the house of grandmother become cold and dark?
K) What istherea name of Saki?
) Who haswritten the poem ‘Laugh and Be Merry’?

PT.O.



Q2) Attempt any five out of seven from the following : [25]

a) Describe the narrator’s encounter with the bank manager in the essay
‘My Financial Career’.

b) Describethenarrator’sexperiencesinthebank intheessay ‘My Financial
Career’.

c) Write critical appreciation of the poem ‘The World is Too Much With
Us'.

d) Describe the incident on which the essay ‘Do Insects Think’ is based.
e) Comment on how the fortune-teller does business.
f) How are good manners important between friends?

g) Isthe poem ‘Where the Mind is Without Fear’ relevant even today? If
yes, explain how.

Q3) Attempt any five out of seven from the following : [25]

a What do we get out of ignorance?
b) Comment on the main theme of the poem ‘To Daffodils'.

c) What are the seven stages of life as described by Shakespeare in the
poem ‘All the World's a Stage’ ?

d) Comment on the relationship that Gandhiji and hisfriend shared.
€) Examine the theme of lovein the poem ‘My Grandmother’s House' .

f) How does the window play an important role in the story ‘The Open
Window’.

g) Exploreand explain the relationship between death, time and lifein the
poem ‘Laugh and Be Merry’.

Q4) Attempt any one out of two from the following : [10]

a) Describetheattempts made by Gandhiji to becomean English Gentleman.

b) Write a note on Wordsworth's attitude towards nature by analysing the
poem ‘ The World is Too Much With Us'.

* * *
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P4350 [Total No. of Pages : 3
[6032]-SODL-1019
F.Y. B.Com.
MARATHI (Wdt)
117B : WTHT, HIfged (0T hivied frehm o WiET AT SHivres foemma
(2019 Pattern)
e : 3 A/ [ TR T ;70

AN 1) e U HiEiu A .
2) ISEIRSA 3k T YU 0T FEIeAT.

Y. 1) WiciicTueh! ShivTeaTg! g1 U9 3w Udeht 20 visada forgr. [10]
) ey dEa FvEE gF TER o
i) 21 = yaehTa A el el STETE 378 foaeh |rad T ared ?

iil) RS TSIRTE TEERaTE I Tghit Uger! Uil g g Tt el
el ?

V) ‘TN S W e I T TS HEEeh it IO iF 9Tt Sl Skt
T hedt ?

V) IE® S A 9 fRgraee nias’ 71 Sl SR AHEE A o e ST
JTRT A hegl TRV AT ?

vi) . T T S e QR i S e e e a7
vil) @S foE TRy ueE ST ufgeR WRHT Aige <hion gt ?
Vi) 37} SRERT SR .

ix) gfogm SR ferr.

x) e g E.

xi) feish me for.

xif)  FFeTen fisn T R R FAOTE AR G TR ?

PTO.



Y. 2) Wiciicii<hl ShITeTE! gl Te-ren S Tt 100 visara forar. [25]

i)

if)

v)

Vi)

RN TS, el VT YR TN AW HERIAT TSRS MRS AT el
e .

‘YRE A AT JMEE AT AW G ARATAA STNGAT HITN FRO
wifiraedt a1 ?

‘YT HIURE AFAT A AW AT fehgas ara Neifurer w1 engerma
qnm.

el oiEH U A ? d U 3ia9a oha-Te TR ATSeTd T .
HIgU=ehTe Teeh AR,

vil) aTfuTeafeNEes TR F3 T8 &,

1) Account

2) Balance Sheet
3) Circular

4)  Gazette

5) Manager

6) Refund

7)  Protocol

8)  Validity

9) Work shop
10) Tender

. 3) WiciicTi<h! ShITeTE! gl Te-men S Tt 100 visara forar. [25]

i)
if)

Vi)

TERIST FASTNS TMAHATS T AR IV e R ?
AT WG T I Uieid UTaT A16Ha SITAT. el STHeAwR U= forr.
HIEAUSTRT= JTEvaehal 2TSaTd J1.

T &RUTIGA el Tatd |isvard Jum=an groaren faert aereiurgm arefvam
YUTR 3R, AT TSRS ARNIHHT Helehd<n SIRT AUATA ATAT 3R, 31 fer=imer
AR Feer TR &,

TRTIETITATS! SR TG I TTGBTTHTAT FTAT T8 .
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vil) e A= AR SEE HEA SarATE THUSE P T,

ARG SaTSEeh Hehed-T CaUeEa- o U U3 el Sehdid el
HeheTT ATHR UF; AN, Y Afard dqul 39 Tkt fearsft wehrer g et
o G B, YUt HRATSHN ShHTRI=ITd fIsRTeie, STTaTes SareruiTd, Himfeie
eI foreRetesn waTET fafdeaa uehar e Sa’ a1 Heheude gIaTg o
IS, STRRHTT = It UhTeHdn Tnerel 32, Jeieh e delt, YR, Toraedt
=R 51 W8, 12 wnfafef, srefommers @ wr o1ga ? orgl, wohl, IATI18, g9 S79m
TGN Ush ARE@E 0T heft 3T, foaR & @nTeams a1 Siehides 2qd shotedl
HTHeh TR AT el AfIh Hgedqul a1g, ANTd.

Y. 4) WreiicTieh! shivTerg! skt 93rel 3w guR 200 vregia forgr. [10]
) iR e Tfoar TE .

i) ‘AR g UEERTRAT = AT 1. STETHTRE SAagHt ATl Ukt aiedut
WY H.

VOOV
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P4466 [Total No. of Pages : 2
[6032]-SODL-1020
F.Y.B.Com.
HINDI (=)
117C : Sehfcdsh 9
(2019 Pattern)
s ;3w [ 9ot 70

guad ;1) |t uv e g
2) I AR W 3 Tl S 0T 90 2

. 1) Frafeltea i # @ 2@ 99t & Uh-Uk a1 ° SR fRad) [10]
)  SATEIETE T SIdHT AT SR 3 7
i) ‘OE U gy THA-wug R w2
i) 3R 3ok F W B A A 5, W@ TS ® - A Form i i ufewar ¥2
iv) ‘Ug F gER wiaan o1 higa W w=n g
V) ‘3@ g o R o o foreh wh 20
vi) UETER W AT o feReRhl 2 ?
vii) T P @ T - g T TR s @ e
vill) ‘G’ e wEE B e U §7
iX) ‘e 9’ e O fRa B e R TRi 29
X) AE® ®iST wM wgr feraet 7
Xi) WA H snyfe e fi smew o SR-d 22

Xil) ‘T W W R e o e foraa femane

PTO.



. 2) fFrafeftaa geAt & dau o sw faRe) (7 9@ | 5) [25]
) A U T R FEe e i)
) A O FHEHI B AR T R greArat | A ?
F) IEM gH Hil it S W TR STfera|
) TN HF AT FHgH H WEETT FAgEarei W R Sied |
3) Uz YR HRE1 T w1 A R avg e e
W) 3T AV Y

)  aTEE T Haqd qHETd|

. 3) fFrafeftaa gvAt & dau o sw faRe) (7 9@ | 5) [25]
)  “HICTRM 1 S el Thl SRRl TR Jeh19T el |
F) Toar o S’ ot o go1 R g e
&) ‘T % Ul hieraT Sl WIEHT U TRl Sifetd |
) HE EH % =i e feiaR)
3) T HiGT W HH H Iqevd W hifr |
%) faEm-10 f S i)
T)  vIee HEn St THE Ui feviwar feRed

Y.4) fataRaa et o 3w forar @ fafga) (fads we) [10]
HA) TiEA H THR THEEHR Ao |
q)  TEE w1 AUl Ui i

VOOV
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